Sr Questions Answers Choice

. Square

. Kite

. Rectange
. Rhombus

1 In which quadrilateral, there are no parallel lines

. Saqure

. Kite

. Rectangle
. Rhombus

2 The diagnola in the quadrilateral ............ do not bisect each other.

. Interior angles

. Alternate angles

. Corresponding angles

. Vertically opposite angles

3 Which of the followng angles so formed with traveral and paralelline are supplementary

. Complemenatry
. Supplemenatary
. Obtuse

. Corresponding

4 In right angled triangle one angel is 90° and the other angles are

A
B
C
D
A
B
C
D
A
B
C
D
A
B
C
D
A. Isosceles
. . . B. Equilateral
5 Aright angled triangle can not be ............... triangle C. Scalene
D. Both Isosceles and scalene
A. 16 m/s
B. 18 m/s
C.20 m/s
D. 22 m/s
A
B
C
D
A
B
C
D
A
B
C
D
A
B

. Speed

. Arrival time

. Departure Time
. None

7 Distance / time =

.22 h

.20 h 50 min
.21 h 50 min
.22 h 10 min

8 15 h 30 min +6 h 30 min =

. 2 Year

. 2 Years 6 moth
. 6 months

. None

9 30 Month=................... Year

10 10 months 25 days ................... days



